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MANAGERIAL ECONOMICS

Q1.
IT IS SAID THAT FIRMS ARE GENERALLY ORGANIZED FOR PROFIT EARNING. IN THE MANAGERIAL ECONMICS, PROFIT MANAGEMENT IS A CHALLENGING ISSUE. EXPLAIN?.
ANS:
Profit management issue is a big and challenging in every business. Now we will discuss it. Profits are the difference between revenues and costs. In a trade transaction, profit is the difference between the price at which you sell a good and the price at which you bought it. Running a business, net profit is what is left out of turn-over after paying suppliers, workers, financing institution, and the state. In insurance companies, it's the difference between the sums of the premiums collected and the total claims resulting from insured negative shocks. Distributed profits are the income source of the owners of business. As a social group, they are called "owners" or "capitalists". The part of the value added not distributed as wages, interests, and taxes, remain within the firm to finance investments.

Determinants

Maximizing profits is said to be the objective of all firms. Indeed, it's not always easy for the management to find out which are the right decisions that would maximize them. For instance, short-run profits can be easily pumped up by avoiding maintenance, discretionary costs, investments, that however are necessary of on-going competitiveness, as you can experiment with this free business game.

Moreover, what maximizes the "overall profits" is not necessary what allows to attain the maximum of "profitability", i.e. the percentage of profits to turn-over, as you can better understand by using this model of monopoly and comparing two policies: (i) extremely high prices (= high profitability), (ii) a price set from a mark-up of 15% on costs.

In reality, firms do have profits targets, and sometimes they pay managers for reaching them, but the goals of firms are broader than profits alone.

Proceeding with other determinants of profits, rising prices of competitors, better sales conditions and skills, a higher overall price level allow for higher prices of the considered firm's products, thus increase nominal profits to the extent that costs are inelastic, i.e. they rise less than proportionally to revenues.

Cost structure and its general elasticity to production level is thus relevant to profits. Economies of scale increase profits more than proportionally when sales grow. Conversely, a recession with falling sales levels will hit profits particularly hard in industries where there are economies of scales and high fixed costs.

Rising wages directly reduce profits. If, however, on a macro-economic level, these wages will be spent on domestic goods, higher consumption will boost business revenues, partially counteracting the previous dynamics. Depending on the dynamics of exports and other GDP components, higher wages are compatible with higher profits, as you can see in these real data. In other terms, productivity gains determine rising profits.

High trade profits can prompt other people to entry the market and begin to compete with current traders. In manufacture, this effect, although still present, crucially depends on the easy of imitation of product features and production processes. It's often difficult to enter into highly profitable markets.

If markets were all perfectly competitive in their long run equilibrium, all firms in the economy would have the same constant level of profits: zero. By contrast, in the real world, firms have different profits with certain sectors and certain firms systematically reaching better profits than others. This is due to ubiquitous imperfect competition, barriers to entry, innovation and product differentiation.

Profits from process innovation

Consider the case of a competitive market where many firms sell basically the same product at the same price. If they had the same technology and faced the same input prices (e.g. wages), they would enjoy similar profit levels. Let's assume that one specialized supplier introduce a new machine that is better than the state-of-art, say a faster machine. The suppler sells it to one of the firms on the market. This will result in lower costs per unit of output, thus higher profits. These profits are used, retrospectively, to pay for the investment in the new machine but after the pay-back period they can be distributed to firm's owners.

The specialized supplier would like to sell again the new machine, either to its first adopter or to its competitors. If not legally restrained, earlier or later, in fact, the competitors will pay attention to the innovation and would like to imitate the first adopter. Slower or faster, innovation will diffuse throughout the market. Possibly some of the reduced costs will reach the consumers in terms of lower prices. If demand is elastic and there are economies of scale a self-sustained positive feedback loop enlarges production capacity, production levels, profits and consumption. If labour is not too weak, also wages will rise. In a certain point on time, firms that did not adopt the new machine will see their profits seriously hit by competition and will have to choose whether to exit the market, to adopt, or to find other competitive advantages. Pressure to reduce wages in failing firms can be an example of these short-term defensive strategy.

Profits from product innovation

Consider a market with product differentiation, as this. An R&D investment over the years leads to an improvement of one product features and the management decides to substitute this new model to the existing one. Let's imagine for simplicity's sake that costs of product are the same as the previous version.

Three main effects will increase sales:

1. consumers who did not buy the good because it did not satisfied their minimum requirements on this feature can now buy, to the extend the improvement is sufficient at their eyes;

2. consumers who decides by a "top-quality" rule and positively value the feature could switch from their current provider, to the extend the overall quality of the new good becomes superior;

3. consumers who decides by a "value-for-money" rule could switch from their current provider, to the extend the price / quality relationships of the new good becomes more convenient.

At the same time, the price of this new version could be set higher than before, so that sales would be broken, unit profits boosted. Overall profits would soar.

Impact on other variables

Distributed profits go into the income flows of the owner, directly or as dividends. The expected and actual rise in dividends boost the stock exchange quotations. Since shares are concentrated, in their majority, in few hands, and the more so the ownership of private firms, the rich get richer.

The demand pattern for consumption goods changes, with a more convex shape. There is an increase in overall consumption quantities, especially of luxury goods, often leading to a more than proportional growth of imports. In certain market segments prices rise.

Undistributed profits allows, and high rent ability incentives, a new wave of investments, partially funded by banks in this "euphoria tide" of positive animal spirits.

Employment in capital goods sectors, as well as in some correlated industries, rise as well. Actual workers can ask for higher wages, credibly menacing strikes that would hurt profits, thus can encounter less-than-usual resistance.

Taxation from profits and capital gains soars to give more funds to the State for spending and balancing the budget. However, the rich and the very rich employ a vast array of sophisticated techniques to exploit any loophole in the tax code to minimize their burden. In certain countries, their interests are so protected by lobbies and political parties that the same tax code is written to open such loopholes. Taxes on capital gains and profits can be lower than on labour; since the rich have a disproportionally high share of income coming from the former, the effect is a violation of "vertical equity" which requires that taxation be related to contribution capability.

Long-term trends

There is no long-term trend in profitability. Absolute profits rise with GDP. The share of profits on value added depends on social groups compromises and conflicts. A certain tendency to a rise of this share can be noticed in Western countries, without being an automatically consequence of development or technology.

Behavior during the business cycle

Profits are extremely pro-cyclical. At the early stages of recovery, inventories go down, with sales surpassing production and injecting new liquidity to the business. The following increase in production is obtained by a higher production utilization of plants and employment. Productivity steeply rise and profits as well. During recovery and boom, employment and capital accumulation (investments) can go hand in hand, increasing absolute profits if not profitability.

At the end of the boom phase, high interest rates on loans (taken for funding investment and discretionary costs) hurt profits, as well as higher wages can do. Often unexpected, the demand downturn make inventories piling up, freezing resources and forcing a fall in production. Before this adjustment takes place, profits plunge even into negative values.

Q2.
UNDER THE UMBRELLA OF BUSINESS MANAGEMENT DEMAND ANALYSIS AND FORECASTIN G PLAY KEY ROLE FOR A SUCCESSFUL BUSINESS. DISCUSS?
Yes demand analysis and demand forecasting play a vital key role in every business  success.

Demand Analysis. The Demand Analysis is a process whereby the management makes decisions with respect to the production, cost allocation, advertising, inventory holding, pricing, etc. Although, how much a firm produces depends on its production capacity but how much it must endeavor to produce depends on the potential demand for its product.

Thus, the marketer is required to analyze properly the demand for its product in the market and must hold inventory accordingly. Such as if there is a potential demand in the future, then the firm should hold more inventories and in case there is no demand, then the production remains unwarranted, and hence, lesser inventories are held.

There is a possibility that production might exceed the demand, then the marketer must use alternative ways such as better advertisements to create a new demand.

The demand shows the relationship between two economic variables, the price of the product and the quantity of product that a consumer is willing to buy for a given period of time, other things being equal.

Features/Characteristics of Demand

The following are the main features or characteristics of demand that the marketer must keep in mind while analyzing the demand for its product:

The demand is the specific quantity that a consumer is willing to purchase. Thus, it is expressed in numbers.

The demand must mean the demand per unit of time, per month, per week, per day.

The demand is always at a price, e. any change in the price of a commodity will bring about a certain change in its quantity demanded.

The demand is always in a market, a place where a set of buyers and sellers meet. The market needs not to be a geographical area.

Thus, demand plays a crucial role in the success of any business enterprise. And it must be remembered that demand is always at a price and a particular time period in which it is created. Such as demand for woolen clothes will be more in winters than in any other season. Hence, demand analysis is always done in terms of the price and the relevant time period.

Demand Forecasting

Demand forecasting is a combination of two words; the first one is Demand and another forecasting. Demand means outside requirements of a product or service. In general, forecasting means making an estimation in the present for a future occurring event. Here we are going to discuss demand forecasting and its usefulness. It is a technique for estimation of probable demand for a product or services in the future. It is based on the analysis of past demand for that product or service in the present market condition. Demand forecasting should be done on a scientific basis and facts and events related to forecasting should be considered.

Therefore, in simple words, we can say that after gathering information about various aspect of the market and demand based on the past, an attempt may be made to estimate future demand. This concept is called forecasting of demand.

Following is the significance of Demand Forecasting. Fulfilling objectives of the business

Preparing the budget

Taking management decision

Evaluating performance etc.

Moreover, forecasting is not completely full of proof and correct. It thus helps in evaluating various factors which affect demand and enables management staff to know about various forces relevant to the study of demand behavior.

Types of Forecasting

There are two types of forecasting:

1. Based on Economy
There are three types of forecasting based on the economy:

Macro-level forecasting: It deals with the general economic environment relating to the economy as measured by the Index of Industrial Production(IIP), national income and general level of employment, etc.

Industry level forecasting: Industry level forecasting deals with the demand for the industry’s products as a whole. For example demand for cement in India, demand for clothes in India, etc.

Firm-level forecasting: It means forecasting the demand for a particular firm’s product. For example, demand for Birla cement, demand for Raymond clothes, etc.

2. Based on the Time Period
Forecasting based on time may be short-term forecasting and long-term forecasting Short-term forecasting:  It covers a short period of time, depending upon the nature of the industry. It is done generally for six months or less than one year. Short-term forecasting is generally useful in tactical decisions.

Long-term forecasting casting: Long-term forecasts are for a longer period of time say, two to five years or more. It gives information for major strategic decisions of the firm. For example, expansion of plant capacity, opening a new unit of business, etc.

Q3.
DEFINE SUPPLY? DISCUSS DETERMINATS OF SUPPLY?.
In economics, supply is the amount of a resource that firms, producers, labourers, providers of financial assets, or other economic agents are willing and able to provide to the marketplace or directly to another agent in the marketplace. Supply can be in currency, time, raw materials, or any other scarce or valuable object that can be provided to another agent. This is often fairly abstract. For example in the case of time, supply is not transferred to one agent from another, but one agent may offer some other resource in exchange for the first spending time doing something. Supply is often plotted graphically as a supply curve, with the quantity provided (the dependent variable) plotted horizontally and the price (the independent variable) plotted vertically.

In the goods market, supply is the amount of a product per unit of time that producers are willing to sell at various given prices when all other factors are held constant. In the labor market, the supply of labor is the amount of time per week, month, or year that individuals are willing to spend working, as a function of the wage rate.

In financial markets, the money supply is the amount of highly liquid assets available in the money market, which is either determined or influenced by a country's monetary authority. This can vary based on which type of money supply one is discussing. M1 for example is commonly used to refer to narrow money, coins, cash, and other money equivalents that can be converted to currency nearly instantly. M2 by contrast includes all of M1 but also includes short-term deposits and certain types of market funds.

 Determinants of Supply

Determinants of supply (also known as factors affecting supply) are the factors which influence the quantity of a product or service supplied. The price of a product is a major factor affecting the willingness and ability to supply. Here we will discuss the determinants of supply other than price. These are the factors which are assumed to be constant in law of supply.

Change in the price of a product causes the price-quantity combination to move along the supply curve. However when the other determinants change, the supply curve is shifted.

Following are the major determinants of supply other than price:

Number of Sellers

Greater the number of sellers, greater will be the quantity of a product or service supplied in a market and vice versa. Thus increase in number of sellers will increase supply and shift the supply curve rightwards whereas decrease in number of sellers will decrease the supply and shift the supply curve leftwards. For example, when more firms enter an industry, the number of sellers increases thus increasing the supply.

Prices of Resources

Increase in resource prices increases the production costs thus shrinking profits and vice versa. Since profit is a major incentive for producers to supply goods and services, increase in profits increases the supply and decrease in profits reduces the supply. In other words supply is indirectly proportional to resource prices. Increase in resource prices reduces the supply and the supply curve is shifted leftwards whereas decrease in resource prices increases the supply and the supply curve is shifted rightwards.

Taxes and Subsidies

Taxes reduces profits, therefore increase in taxes reduce supply whereas decrease in taxes increase supply. Subsidies reduce the burden of production costs on suppliers, thus increasing the profits. Therefore increase in subsidies increase supply and decrease in subsidies decrease supply.

Technology

Improvement in technology enables more efficient production of goods and services. Thus reducing the production costs and increasing the profits. As a result supply is increased and supply curve is shifted rightwards. Since technology in general rarely deteriorates, therefore it is needless to say that deterioration of technology reduces supply.

Suppliers' Expectations

Change in expectations of suppliers about future price of a product or service may affect their current supply. However, unlike other determinants of supply, the effect of suppliers' expectations on supply is difficult to generalize. For example when farmers suspect the future price of a crop to increase, they will withhold their agricultural produce to benefit from higher price thus reducing the supply. In case of manufacturers, when they expect the future price to increase, they will employ more resources to increase their output and this may increase current supply as well.

Prices of Related Products

Firms which are able to manufacture related products (such as air conditioners and refrigerators) will the shift their production to a product the price of which increases substantially related to other related product(s) thus causing a reduction of supply of the products which were produced before. For example a firm which produces cricket bats is usually able to manufacture hockey sticks as well. When the price of hockey sticks increases, the firm will produce more hockey sticks and less cricket bats. As a result, the supply of cricket bats will be reduced.

Prices of Joint Products

When two or more goods are produced in a joint process and the price of any of the product increases, the supply of all the joint products will be increased and vice versa. For example, increase in price of meat will increase the supply of leather.

Q4.
DISCUSS MONOPLY EQUILIBRUM IN THE FIRM?.
Equilibrium in Monopoly

The conditions for Equilibrium in Monopoly are the same as those under perfect competition. The marginal cost (MC) is equal to the marginal revenue (MR) and the MC curve cuts the MR curve from below. In this article, we will understand Equilibrium in Monopoly in detail.

A Firm’s Short-Run Equilibrium in Monopoly

Like in perfect competition, there are three possibilities for a firm’s Equilibrium in Monopoly. These are:

The firm earns normal profits – If the average cost = the average revenue

It earns super-normal profits – If the average cost < the average revenue

It incurs losses – If the average cost > the average revenue

Normal Profits

A firm earns normal profits when the average cost of production is equal to the average revenue for the corresponding output.

Equilibrium in Monopoly

In the figure above, you can see that the MC curve cuts the MR curve at the equilibrium point E. Also, the AC curve touches the AR curve at a point corresponding to the same point. Therefore, the firm earns normal profits.
Super-normal Profits

A firm earns super-normal profits when the average cost of production is less than the average revenue for the corresponding output.

Equilibrium in Monopoly

In the figure above, you can see that the price per unit = OP = QA. Also, the cost per unit = OP’. Therefore, the firm is earning more and incurring a lesser cost. In this case, the per unit profit is

OP – OP’ = PP’

Also, the total profit earned by the monopolist is PP’BA.

Losses

A firm earns losses when the average cost of production is higher than the average revenue for the corresponding output.

Equilibrium in Monopoly

In the figure above, you can see that the average cost curve lies above the average revenue curve for the same quantity. The average revenue = OP and the average cost = OP’. Therefore, the firm is incurring an average loss of PP’ and the total loss is PP’BA. In the short-run, a monopolist sometimes sets a lower price and incurs losses to keep new firms away.

Equilibrium in Monopoly

The figure shown above depicts a firm’s short-run Equilibrium in Monopoly. The quantity is along the X-axis and price and cost of production along the Y-axis.

There are three curves – the average variable cost (AVC) curve, the average total cost (ATC) curve, and the marginal cost (MC) curve. Further, there are three demand curves to explain the possible positions of the equilibrium:

Demand Curve D1 is tangent to the AVC curve at point E1

Its corresponding MC curve intersects the MR1 curve from below at point A1. Therefore, while the monopolist satisfies the first condition of equilibrium, he is unable to recover his complete cost of production.

However, even if he closes the plant down, he cannot reduce the losses since they are fixed costs.

Therefore, he decides to produce – OM1 quantity of output and sells it at a price E1M1. This ensures that he suffers a loss which is equal to his fixed costs.

It is important to note that if the demand curve lies left to the position of D1, then there is no production since the monopolist would simply add to his losses by operating the plant. In such cases, a monopolist would close down the plan and restrict his losses to the fixed costs.

Demand curve D2

If the demand curve lies to the right of D1, then the monopolist can recover a part of his fixed costs. Further, if this demand curve is tangent to the ATC curve (demand curve D2), then the monopolist can also recover his complete cost of production.

If D2 is the demand curve, then the equilibrium position of the monopolist is at the intersection of the MC curve and the MR2 curve at point A2. This corresponds with the point of tangency between D2 and the ATC curve (point E2).

Therefore, the MC curve cuts the MR2 curve from below and AR = ATC. Hence, the monopolist earns normal profits by producing a quantity OM2 and selling it at a price E2M2.

Demand Curve D3

If the demand curve lies further to the right of D2 (like D3), the monopolist can earn super-normal profits. The equilibrium position is the point of intersection between the MC curve and the MR3 curve at point A3. Therefore, the monopolist produces a quantity OM3 and sells it at a price E3M3.

A Firm’s Long-run Equilibrium in Monopoly

In the long-run, a monopolist can vary all the inputs. Therefore, to determine the equilibrium of the firm, we need only two cost curves – the AC and the MC. Further, since the monopolist exits the market if he is operating at a loss, the demand curve must be tangent to the AC curve or lie to the right and intersect it twice.

Equilibrium in Monopoly

As you can see above, there are two alternative cases for the determination of Equilibrium in Monopoly:

With normal profits

With super-normal profits

We have not taken the loss scenario here because if the monopolist incurs losses in the long-run, he will stop operating.

Case 1

The demand curve AR1 is tangent to AC or LAC at point E. Remember, if the demand curve lies to the left of the AC curve, then the monopolist is unable to recover his costs and closes down.

However, if the AR curve is tangent to the AC curve, then the monopolist can recover his costs and stay in the market.

Further, note that the perpendicular drawn from point E to the X-axis, the MC curve, and the MR curve are concurrent at point A.

Therefore, all the conditions of equilibrium are satisfied. The monopolist produces OM quantity and sells it at a price of EM per unit which covers its average costs + normal profits.

Case 2

The marginal revenue curve MR2 cuts the MC curve from below at point B. The corresponding height of the AR2 curve is E’M1.

Hence, the monopolist produces OM1 quantity and sells it at E’M1 per unit to earn an extra profit of E’B per unit. Being a monopoly, this extra profit is not lost to competition or newer firms entering the industry.

